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Ost=20=0=sS MEIX 48,000
= 8,000
= 40,000
NEZst =g x 1,032,000 640,000 392,000
9] 664,000
& 368,000
201 L2 H| 20,000 20,000 0
| 10,000
& 10,000
01 At 22l | 20,000 20,000 0
O=2gs4 20,000
OZUISS2MIEMEE I 20,000
| 10,000
& 10,000
307 212t01 A 1,012,000 620,000 392,000
| 654,000
& 358,000
02 DIt ZAB X 1,012,000 620,000 392,000
O3AEA=HNSHRA 612,000
Il 454,000
& 158,000
OdXgAZz J3A& 200,000
| 100,000
& 100,000
OXS9 230l =218 K& 200,000
| 100,000
& 100,000
SHHF M AL (K1) 3,022,000 1,907,000 1,115,000
| 2,692,000
& 330,000
308 AtXI St S0l & 3,022,000 1,907,000 1,115,000
J| 2,692,000
& 330,000
01 AXESHHIAMNEZZ 3,022,000 1,907,000 1,115,000
J23tHtS AL X & 3,022,000
| 2,692,000
& 330,000
sgsy2gnd 3,429,000 1,623,000 1,806,000
201 L Bt29H| 20,000 0 20,000
03 S AFR ZHI 20,000 0 20,000
Od 230 LH2Y 20,000
307 2I2t0| & 849,000 391,000 458,000
02 It JAB =X 849,000 391,000 458,000
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M Z3t0=n

HH: Z0sUEIE (2L 2Z/25H0=)
el ANGt=2dstna (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
ORI M =2RENCHEE &I 14,000
OM302d=H=HM=H=EE &I 10,000
LIM392 B =0l=H &N EI X & 60,000
LIMI392I & = A Ol CH & JH = XI & 20,000
OM232 B =H S MIONE X & 25,000
OH21sl d=SH A2 HASHONE X 15,000
20120t 233 H A& 10,000
OM232 3 =R N E X & 20,000
LIMI392I B = AR CH & OH & X & 30,000
OM152 23R A=A S 2H N E X & 20,000
(120128 =0l = MOHE X & 50,000
OX1538 St MIOHE X & 50,000
COXHOHE AlOl = 0 R & IHE X2 20,000
O2012Z2=S82A M (2SS A AU ) N2 X2 15,000
OZsgl=nI M X 10,000
Oolsol=otatdol2g X 30,000
O SEe0E XA 30,000
OXYdlssotel K& 50,000
020123 =0l=U=H X & 20,000
CAIQIOISAIZESAXE 100,000
WE=PIE= = s-1D) ESDNE] 250,000
308 XXM SO0IA 2,110,000 832,000 1,278,000
01 IXNHHMBANELS 2,110,000 832,000 1,278,000
CR3aI e =S =HE W = X & 90,000
A28 & HHCH= M & = XK = XT& 50,000
ORI M= AEUZHE=SHE IS 20,000
DM B 4SS SUHSHNE XA 40,000
CIMI402] &l et2 3HHIOH = X & 180,000
ON7g sclsE 2 st MONE K& 90,000
OIS A = HIDOH = X & 10,000
198 &TOH & & MK =X & 15,000
O0IS2 /0SS AIE=EZSHMXI A 21,000
[J20125 0| OtAI OtH = HIXI & 20,000
OM102 2 E =S A I MONE X & 70,000
OISAZHASH X 30,000
(120128 =0tEH O X & 60,000
12012 MI78 X Al HI B CH 21 OH =| X1 & 100,000
OX 128 20l & == & H = X & 45,000
OH218 M =2LEIH0t= 3 A3 0= X & 30,000
OMM12d=ZItE3 E W2 X2 27,000
X303 M == 2 CH A & OH = X & 25,000
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PN 230=1
k

HH: Z0sUEIE (2L 2Z/25H0=)
el ANGt=2dstna (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OH143l Mt S8 =2E2 A0SR H A S X
A& 7,000
O8SUE=s01(FsS)8sXE 12,000
OH6s e I0tcl 2B H U HE XA 18,000
20128 S ASI S MK = X & 30,000
O IABEUS X 40,000
OZF=AMAT 2 S H X2 150,000
OZFEHEALZAX R 200,000
O2HSESAIHAEIEME X 90,000
OH4s| B S 2ZAMUE =S 2 X IR XA 20,000
OSAIS A HEZ=2AIE X & 20,000
12012 A1 HI A Ol CH & OH = KT & 30,000
Oge=tg2g X 40,000
CI2012A1 HI & 3t S 24 JI & OH & X2 50,000
PN S ESPARSEN PN E= g W k=1 E~ DAL 20,000
ORIz gt/ SHBEUME XA 20,000
OF=2HeH(oHEHIF)SHX A 150,000
LolsAE8dEASS AN 25,000
O sS2d7Z =23t et0t = X & 105,000
(I8t SHHCHH ZH A BN 00 = X2 60,000
201241 CHCH RIS OH = KT & 100,000
403 XX SHHE =0l & 450,000 400,000 50,000
01 AtXIEHH X2 2 X 450,000 400,000 50,000
OeizEsteds|gt =X 350,000
O =2a 848X 3 100,000
H=esL2IXNIA(ZNEEXE) 395,000 0 395,000
308 AtXIEHM S 01 & 395,000 0 395,000
01 AXHHBLEEZ 395,000 0 395,000
Oet=e=0=s M= X & 195,000
OZESAEHAEIEMNE X 200,000
HESE2tEds X 2,686,600 674,000 2,012,600
= 1,300,000
= 1,386,600
SRS EH 155,000 145,000 10,000
308 XXM SO0IA 155,000 145,000 10,000
01 HXHHBAEES 165,000 145,000 10,000
OLASHA R 10,000
OFSSH2XE 13,000
ol &t st A A& H 2 X & 10,000
O =FAI2a 58X & 30,000
OZEHBAS A=A ALK 12,000
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SN 230E D
Yo SHUSMAYNE(SHYDD/25012)
Sl MEAREE2LTY| (e e
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off &F OH Ol AF o8 Blusz
HENESESLFY 4,838,000 2,286,500 2,551,500
=2 3,060,000
= 1,778,000
HEANERETY 4,230,000 1,678,500 2,551,500
=2 3,060,000
= 1,170,000
403 XX EHH S K20 & 4,230,000 1,678,500 2,551,500
=2 3,060,000
= 1,170,000
01 XHXISHHIXH= 2 & 4,230,000 1,678,500 2,551,500
ORSAESEZHIALR 1,890,000
2 1,260,000
= 630,000
ORSAZSTHAI A RS & 2,340,000
2 1,800,000
= 540,000
HEAE2L T 600,000 600,000 0
403 XX EHH S K201 & 600,000 600,000 0
01 XHXISHHIXHE 2 X 600,000 600,000 0
ORSAZZSZHIAMS RIS 400,000
ORSAZAZ LML 200,000
HENEBESLIHFD 8,000 8,000 0
201 YLetE bl 1,000 1,000 0
01 AtR 22l t| 1,000 1,000 0
EEEIRS=1T 1,000
Oslota RS 1,000
202 01t 7,000 7,000 0
01 =L 01 bl 7,000 7,000 0
ORSAZEEZS 7,000
SHAHESHARIXI 2 616,000 734,000 ~118,000
HEUG=ARS @ 100,000 100,000 0
403 XHXI EHHI S Xt 0| & 100,000 100,000 0
01 XHXISHHIXH2 2 X 100,000 100,000 0
OHSHASAN S 100,000
SSABENESS 504,000 622,000 118,000
307 £12+0| & 486,000 586,000 100,000
EIE=ES 406,000 506,000 100,000
[ 0l 2R & AL 2D 30,000
CIRI75I et el = 20 40,000
O2+ZHBM4Y 30,000
OR45I B2 ERII 285 20,000
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2A: S30l=1
Hu: 250 MATE (2L R/2EH02)
Ce: 2} SSAIE X (¢t &
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OSSO SH AR XA 256,000
OZ20 3™ AIEHOHA A& 30,000
04 QIZ2ISHALE = 80,000 80,000 0
ON423 HA=CESHEUHENR XA 40,000
CIMA433| BAS EASCI AR M &S N X X & 40,000
308 KX SISOl A 18,000 36,000 A 18,000
01 IXIEMIAEEZ 18,000 36,000 A 18,000
OSSR A S E A& 18,000
2o A ESIAIE =X 12,000 12,000 0
201 LBt AH| 3,000 3,000 0
01 At 22|l 3,000 3,000 0
Oggt~EH| 3,000
O XzRos 3,000
202 (4 Hi 9,000 9,000 0
01 2| 9,000 9,000 0
(23 ASSAIE XA FE 9,000
Sl sMBENE (2L LY /252 22 2Bt 7,369,000 5,334,800 2,034,200
= 300,000
z 941,000
. = 6,128,000
oG A ZE =& 7,369,000 5,334,800 2,034,200
= 300,000
z 941,000
& 6,128,000
=R =d=2EY 4,885,000 480,000 4,405,000
201 2 et2HH| 115,000 0 115,000
01 AtR2t2|dl 115,000 0 115,000
O et=SH| 115,000
OEX2SILHA M & 115,000
307 212t01 A 270,000 180,000 90,000
02 DIZtEAME X 270,000 180,000 90,000
M0 B EHAZ2E AL QLAZZ22 XS 50,000
(N2 E22H MU THS AT 70,000
OM143 BN ECXMS2 AL ANASE2HX 50,000
M8l dASTIHEHECI NS E XA 50,000
OZ=RCIZH =&K& 50,000
308 XX S SO A 1,500,000 300,000 1,200,000
01 AXIEMIAEEZ 1,500,000 300,000 1,200,000
OOM53 A= S X AFHOIOF = HeA EXHE K& 50,000
O3 g =SS 22 =X &R 850,000
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SH: 230z
HE: 2o SANANE (2 UY /2L BT UL
ool 2YABHEI (Sl &2
_ _ pSNE e
SN EB -GS - MBAY - BES 0 & 24 G HRE2
SEEEEENELE. 150,000
BEPEEECTE=E b ETE=PiE! 100,000
BEEISIEPESE! 200,000
mESEEEP R 150,000
403 XHXI SHRI S XH22 0] & 3,000,000 0 3,000,000
01 XIS H =L E 3,000,000 0 3,000,000
(S 20tMIE HRIR X 2 3,000,000
SoPABEHEAYEN 43,000 45,800 A2,800
201 YBr2gy| 14,000 16,800 A2,800
01 At 22|t 9,000 1,800 A2,800
mEETES=Y] 7,000
O3lAMERLS 7,000
Negag 2,000
OF=esBHEMANSARE ST 2,000
02 222l 5,000 5,000 0
OZ222 YAl 5,000
OA=AMRHOIMEHOIXSY 5,000
202 048] 19,000 19,000 0
01 2U0i b 19,000 19,000 0
S5t A R =T 0| 19,000
203 YR =Y 10,000 10,000 0
03 AI&ZZ 2= X Y| 10,000 10,000 0
2=y 10,000
As2s U AMEAY 1,441,000 4,209,000 A2,768,000
3 941,000
= 500,000
403 Xt XI SRS XH2 0] & 1,441,000 4,209,000 A2,768,000
3 941,000
= 500,000
0f MHXISHRZEE 1,441,000 4,209,000 A2,768,000
sEEEEECES E R 1,441,000
=l 941,000
= 500,000
CIXE 26 = Ao g4 600,000 600,000 0
= 300,000
= 300,000
307 212+0I & 600,000 600,000 0
= 300,000
= 300,000
EIEIE P 600,000 600,000 0
(22 E=30I| SAHLHL X 600,000
=2 300,000




M Z3toll=

- [ = L

YU SHHSMANE(SHLBY/SHUAT AL

el SEd2Ee =X (&=l & )

N B .S (3 H) - MIBEAY - BHA2 A} OH &EIE Hn=2
= * T ° - = oS = =5 0:”/&,% Lsa
& 300,000
SZZH=ANESALE 400,000 0 400,000
306 == 400,000 0 400,000
01 &3 400,000 0 400,000
sEEEEEEESEEE 400,000
HY2AHUI (230l=) (I1EHDIE) 147,537 147,423 114
294l 19,037 16,523 2,514
23| 19,037 16,523 2,514
101 21244l 19,037 16,523 2,514
03 I HLA2Z2HE S 19,037 16,523 2,514
St 28 (224) 19,087
oJl=3 40,8303 x 1 252 10,290
(@OF U=, 10,290,000 & *1/12+400% 3,430
O=xFs=2¢ 40,8303 x1¥ +52 2,124
OdAx= 40,8303 x 18 x15 613
(@JME=JEN ] 60,0003 x1E*12& 720
OgZE Sty 150, 0002 *1H %23| 300
OF MU ZAH| 130,000& x1E « 12 1,560
|23l 128,500 130,900 22,400
Jl2Z 4l 128,500 130,900 A2,400
201 LEH2FH| 65,300 61,700 3,600
01 AR 2teld] 59,300 55,700 3,600
] Bt=~=ZH| 30,000
ORNMZE eI 30,000
Oz2g=¢ 13,200
OllZ=dedsl=
150,000& 22X 43| 13,200
= &l 16,100
OFsl=g =2 =2 16,100
02 2223l 6,000 6,000 0
033232 HA 1,000
ORER=S 1,000
OAIE & Hl s Xl 5,000
OARIIJIRXHI S 5,000
202 odl 8,600 8,600 0
01 SLHA b 8,600 8,600 0
O23t0l=aE 04 8l 8,600
203 YR =&ld| 26,400 28,200 21,800
01 J|22HHRFA 6,600 6,600 0
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2A: 230=0
Y HH2HAHI(20=1)(JIEH/IIE})
Sl Jl2dl o
SA - HE . CR(B]H) - NBEAIY - HA2 Al OH &EIE Ho=2t
. == ° Tl 2 ° . (= (=3 =5 0:”/|l|,% Lsa
=% 6,600
04 EN2ILRFEH| 19,800 21,600 A 1,800
1300l ot 350,000 x4 2 A+ 12& 16,800
1540l ot 250,000& 12 A+ 12& 3,000
204 M2 A 28,200 32,400 A4,200
01 MM Sy RHAH| 28,200 32,400 AN4,200
O=% 600,000& x1H «12& 7,200
O 350,000& x5 «12& 21,000
Hegs(2atsl) (2322 /250 = ,444,000 2,116,000 A672,000
| 222,000
& ,222,000
LHEHH K= ,444,000 2,116,000 A672,000
J| 222,000
& ,222,000
NEzstt=ssd 444,000 1,116,000 A672,000
J| 222,000
& 222,000
02 ISHES 444,000 1,116,000 A672,000
J| 222,000
& 222,000
01138 E2 444,000 1,116,000 A672,000
OXG2at=s8XA (20 444,000
| 222,000
= 222,000
Z0=dEIIS 2 ,000,000 1,000,000 0
RIISHES ,000,000 1,000,000 0
01 JI3dE= ,000,000 1,000,000 0
O2s0=ds0I3 24 ,000,000
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